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MPPCS Mains-2014

M-2014-III
lkekU; vè;;u GENERAL STUDIES

r`rh; iz'u&i=k Third Paper

le;% 3 ?kaVs		  iw.kk±d % 300 ([k.M&v 150 + [k.M&c 150)
Time: 3 Hours		  [Total Marks: 300 (Part- A 150 + Part- B 150 ]

ijh{kkfFkZ;ksa ds fy;s funsZ'k%�
Instruction to the candidates :�

bl iz'u&i=k esa [k.M&v ,oa [k.M&c gSaA izR;sd [k.M 150 vad dk gSA
The question paper consists of Part-A and Part-B. Each part carry 150 marks.

	 1.	 izR;sd [k.M esa oqQy rhu iz'u gSaA lHkh iz'uksa osQ mÙkj nsuk vko';d gSA iz'u ozQekad 02 rFkk 03 esa vkarfjd fodYi 
gSaA iz'u ozQekad 02 esa 'kCn lhek 100 gS rFkk iz'u ozQekad 03 esa 'kCn&lhek 300 gSA

		  Each part of this question paper consists of 03 questions. All questions are compulsory. Question No.02 and 
03 have an internal choice. For Question No.02 word limit is 100 words and for Question No.03 word limit 
is 300 words.

	 2.	iz'uksa osQ mÙkj mlh ekè;e esa fy[ks tkus pkfg, ftldk p;u vkius vkosnu&i=k esa fd;k gSA fdlh vU; ekè;e esa 
fy[ks x;s mÙkj ij dksbZ vad ugha feysxkA lHkh 03 iz'u djuk vfuok;Z gSA iz'u&i=k osQ vuqlkj gh iz'uksa osQ mÙkj 
ozQekuqlkj nsa] ,d gh iz'u osQ fofHkUu Hkkxksa osQ mÙkj vfuok;Z :i ls ,d lkFk gh fy[ks tk;sa rFkk muosQ chp vU; 
iz'uksa osQ mÙkj u fy[ks tk;saA ijh{kk esa lkekU; oSQyoqQysVj gh mi;ksx esa fy;k tk ldrk gSa] lkbfUVfiQd ughaA

		  Answers should be written in the medium which you have opted in your Application Form. No marks will 
be awarded, if the answer is written in any other medium. All the three questions must be answered. Question 
should be answered exactly in order in which they appear in the question paper. Answer to the various parts 
of the same question should be written together compulsorily and answer of other question should not be 
inserted beetween them. Simple calculator alone can be used in the exam, not the Scientific one.

	 3.	 izFke iz'u y?kq mÙkjh; gS] ftlesa 15 vfuok;Z iz'u gSaA izR;sd dk mÙkj ,d vFkok nks iafDr;ksa esa nsuk gSA
		  The first question is of short answer type consisting of 15 compulsory questions. Each one is to be answered 

in one or two lines.

	 4.	 tgk¡ 'kCn lhek nh xbZ gS] mldk vo'; ikyu djsaA
		  Wherever word limit has been given, it must be adhered to.

	 5.	 ;fn fdlh iz'u esa fdlh izdkj dh dksbZ eqnz.k ;k rF;kRed izdkj dh =kqfV gks] rks iz'u osQ fgUnh rFkk vaxzsth :ikarj.k 
esa ls vaxzsth :ikarj ekud ekuk tk;sxkA

		  In case there is any error of printing or factual nature, then out of the Hindi and English versions of the 
questions, the English verion will be treated as standard.

[k.M&v
Part–A

	 1.	 fuEufyf[kr ij ,d ;k nks iafDr;ksa esa mÙkj fyf[k,%						     15 × 3 = 45
		  Write one or two sentences on the following :
	 (A)	 vadh; gLrk{kj
		  Digital Signature

	 (B)	 isVsaV
		  Patent
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	 (C)	 vkWfIVdy iQkbcj
		  Optical Fibre
	 (D)	 dEI;wVj ok;jl
		  Computer Virus
	 (E)	 dkcZu iqQVfizUV~l
		  Carbon Footprints
	 (F)	 uSuks jkscksV~l
		  Nano robots
	 (G)	 fiu&dksM iz.kkyh
		  Pin-Code System
	 (H)	 (264)102 + (264)103 esa bdkbZ dk vad
		  Unit digit in (264)102 + (264)103

	 (I)	 ‘ALLAHABAD’ 'kCn osQ v{kjksa ls vyx&vyx cuus okys 'kCnksa dh la[;k
		  Number of different words made from the letters of the word ‘ALLAHABAD’
	 (J)	 vEy o"kkZ
		  Acid Rain
	 (K)	 thukse
		  Genome
	 (L)	 ykbosQu
		  Lichen
	 (M)	 iznw"k.k ls lacaf/r ;wjks ekud
		  Euro Standard for Pollution
	 (N)	 leLFkkfud
		  Isotopes
	 (O)	 tax (eksjpk) yxuk
		  Rusting Process

	 2.	fuEufyf[kr esa ls fdUgha nl iz'uksa osQ mÙkj yxHkx 100 'kCnksa es nhft;s%			   10 × 6 = 60
		  Answer any ten questions in about 100 words from the following :

	 (A)	 bZ&xous±l dk D;k rkRi;Z gS\
		  What is meant by e-governance ?
	 (B)	 Mh ,u , ¯iQxj&fiz¯UVx D;k gksrh gS\
		  What is DNA Finger-printing ?
	 (C)	 CywVwFk rduhd dk D;k rkRi;Z gS\
		  What is Bluetooth technology ?
	 (D)	 oSKkfud vuqla/ku ,oa fodkl osQ {ks=k esa CSIR dk mís'; D;k gS\
		  What is the purpose of CSIR in the field of scientific research and development ?
	 (E)	 lwnwj laosnh rduhd D;k gS vkSj ;g fdl izdkj dk;Z djrh gS\
		  What is remote sensing technology and how does it work ?
	 (F)	 i;kZoj.k laj{k.k osQ fy;s Hkkjr }kjk fd;s x, iz;klksa dk o.kZu dhft,A
		  Describe briefly the efforts made by India for environmental protection.
	 (G)	 ^fVªIl* le>kSrk D;k gS\
		  What is ‘TRIPS’ agreement ?
	 (H)	 mQtkZ n{krk C;wjks osQ mís';ksa dks laf{kIr esa o£.kr dhft,A
		  Describe briefly the objectives of Bureau of Energy Efficiency (BEE).
	 (I)	 tarqvksa vkSj ikS/ksa dh dksf'kdk dh lajpuk osQ ckjs esa laf{kIr esa fyf[k;sA

		  Write briefly about animal and plant cell structure.
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	 (J)	 jnjiQksMZ osQ ijek.kq ekWMy dk laf{kIr esa o.kZu djsaA

		  Discuss briefly Rutherford atomic model.

	 (K)	 ,d eSnku dh yEckbZ 50 ehVj rFkk pkSM+kbZ 50 ehVj gSA mlosQ pkjksa vksj ,d 6 ehVj pkSM+k jkLrk gSA jkLrs dks 
iwjh rjg ls iRFkjksa ls <duk gSA ;fn iRFkj dh yEckbZ vkSj pkSM+kbZ nksuksa 80 ls-eh- gks rks jkLrs dks <dus osQ 
fy;s fdrus iRFkj pkfg;s\

		  The length and width of a ground is 50 meter each. There is a path of 6 meter width around the ground. 
The path is to be covered with tiles. If the length and width of a tile is 80 cm each, then how many tiles 
are needed to cover the ground ?

	 (L)	 ,d nqdkunkj us 11 larjs ` 10 esa [kjhns rFkk 10 larjs ` 11 esa csp fn;sA mldk izfr'kr ykHk fudkfy;sA

		  A shopkeeper bought 11 oranges for ` 10 and sold 10 oranges for ` 11. Find the percentage gain.

	 3.	fuEufyf[kr iz'uksa esa ls fdUgha rhu iz'uksa osQ mÙkj yxHkx 300 'kCnksa esa nhft;s%			   3 × 15 = 45
		  Answer any three questions in about 300 words from the followings :

	 (A)	 Hkkjr esa foKku vkSj rduhd osQ {ks=k esa egÙoiw.kZ ,sfrgkfld miyfC/;ksa dk o.kZu dhft;sA

		  Describe major historical achievements in India in the area of science and technology.

	 (B)	 mQtkZ mRiknu dh ubZ mHkjrh izkS|ksfxfd;ksa ij foLrkj ls o.kZu dhft;sA

		  Discuss in detail the new emerging technologies of energy production.

	 (C)	 2 vkneh rFkk 7 yM+osQ fdlh dke dks 14 fnu esa djrs gSa tcfd 3 vkneh rFkk 8 yM+osQ mlh dke dks 11 
fnu esa djrs gSaA crkb;s fd 8 vkneh rFkk 6 yM+osQ ml dke ls frxqus dke dks fdrus fnu esa iwjk dj ysaxsA

		  2 men and 7 boys complete a work in 14 days, while 3 men and 8 boys complete the same work in 11 
days. Find that 8 men and 6 boys will complete three times of that work in how many days.

	 (D)	 uhps fn;s x;s ikbZ&pkVZ esa 45000 fo|kfFkZ;ksa dh oqQy la[;k dk foKku osQ fofHkUu {ks=kksa esa forj.k fn;k x;k 
gS rFkk uhps nh xbZ rkfydk esa foKku osQ fofHkUu {ks=kksa esa yM+fd;ksa dk izfr'kr fn;k x;k gSA bldk vè;;u 
dj fuEu iz'uksa osQ mÙkj nhft,%µ

		     

{ks=k yM+fd;ksa dh izfr'krrk

fpfdRlk foKku 49%

bathfu;fjax 16%

thofoKku 36%

dEI;wVj lk;Ul 50%

jlk;u'kkL=k 19%

	 (i)	 bathfu;fjax osQ {ks=k esa yM+dksa dh la[;k dk lHkh yM+dksa dh oqQy la[;k ls vuqikr D;k gS\

	 (ii)	 fpfdRlk foKku esa yM+dksa dh oqQy la[;k rFkk tho foKku esa yM+dksa dh oqQy la[;k esa fdruk varj gS\

	 (iii)	 bathfu;fjax osQ {ks=k esa yM+dksa dh oqQy la[;k rFkk blh {ks=k esa yM+fd;ksa dh la[;k dk vuqikr fdruk gS\

	 (iv)	 jlk;u'kkL=k esa yM+fd;ksa dh la[;k fo|kfFkZ;ksa dh oqQy la[;k dk fdrus izfr'kr gS\

	 (v)	 foKku osQ fofHkUu {ks=kksa esa yM+fd;ksa dh oqQy la[;k] foKku osQ fofHkUu {ks=kksa esa yM+dksa dh oqQy la[;k dk 
fdrus izfr'kr gS\

		  The distribution of total 45000 students in different branches of Science is given in the following Pie-
chart, and the percentage of girls in different branches of Science is given in the following table. Read 
carefully the following Pie-chart and table, and answer the questions therin.
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Field Percentage of girls

Medical Science 49%

Engineering 16%

Biology 36%

Computer Science 50%

Chemistry 19%

	 (i)	 What is the ratio of number of boys in Engineering branch to total number of all boys ?
	 (ii)	 What is the difference in total boys in the branches of Medical Science and Biology ?
	 (iii)	 What is the ratio of total boys and girls in the branch of Engineering ?
	 (iv)	 What is the percentage of girls in Chemistry among the total number of students ?
	 (v)	 What is the percentage of total number of girls to total number of boys in different branches of Science ?
	 (E)	 tSo fofo/rk D;k gS\ blosQ egÙo dks le>kb;sA blosQ foyqIr gksus osQ dkj.k rFkk laj{k.k osQ mik;ksa dk o.kZu 

dhft;sA
		  What is Bio-diversity ? Explain its importance. Describe the reasons of its extinction and steps for its 

conservation.

[k.M&c
Part–B

	 1.	 fuEufyf[kr ij ,d ;k nks iafDr;ksa esa mÙkj fyf[k,%						     15 × 3 = 45
		  Write one or two sentences on the following :
	 (A)	 eqnzk dk voewY;u D;k gS\
		  What is devaluation of currency ?
	 (B)	 futhdj.k ,oa mnkjhdj.k esa foHksn dhft;sA
		  Distinguish between privatization and liberalization.
	 (C)	 yksd forj.k rU=k osQ izeq[k mí's; D;k gSa\
		  What are the main objectives of public distribution system ?
	 (D)	 [kk| lqj{kk dk izR;; D;k gksrk gS\
		  What is the concept of food security ?
	 (E)	 ijLij fuf/ dk izeq[k dk;Z D;k gS\
		  What is the main function of mutual funds ?
	 (F)	 jktLo ?kkVk fdl izdkj fuf'pr gksrk gS\
		  How is revenue deficit determined ?
	 (G)	 O;f"V foÙk iks"k.k D;k gS\
		  What is micro financing ?
	 (H)	 uxn vFkZ lkgkÕ; gksrk gS\
		  What is cash subsidy ?
	 (I)	 ewY; o`f¼ dj fdl izdkj yxk;k tkrk gS\
		  How is value added tax levied ?
	 (J)	 [kqnjk cSafdax esa D;k 'kkfey gksrk gS\
		  What is included in retail banking ?

	 (K)	 fodflr ns'kksa esa csjkstxkjh osQ izR;; dks crkb;sA

		  State the concept of unemployment in developed countries.
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	 (L)	 Hkkjr esa dkSu&dkSu ls xSj&okf.kfT;d ÅtkZ lalk/u gSa\
		  What are the non-commerical energy resources in India ?

	 (M)	 vYidkyhu lgdkjh m/kj iznku djus esa dkSu&dkSu ls vfHkdj.k 'kkfey gSa\
		  What are the agencies involved in offering short term cooperative credit ?

	 (N)	 x`g foÙk {ks=k esa gh dk;Zjr dkSu&dkSu ls vfHkdj.k gSa\
		  What are the agencies exclusively involved in housing finance sector ?

	 (O)	 osQUnz ljdkj vius ctV esa lkekftd {ks=k osQ fdu enksa ij lkekU;r;k O;; djrh gS\
		  On which items of social sector, Central Government spends in its budget ?

	 2.	 fuEufyf[kr iz'uksa osQ mÙkj yxHkx 100 'kCnksa esa nhft;s%					     10 × 6 = 60
		  Answer the following questions in about 100 words each :

	 (A)	 Hkkjr esa jk"Vªh; vk; vuqeku dh lhekvksa dks crkb;sA
		  State the limitations of national income estimation in India.

vFkok@OR
	 	 fodkl'khy vFkZO;oLFkk osQ :i esa Hkkjrh; vFkZO;oLFkk dh vk/kjHkwr fo'ks"krk;sa D;k gSa\
		  What are the basic characteristics of the Indian economy as developing economy

	 (B)	 ekuo fodkl lwpd dh x.kuk fdl izdkj gksrh gS\
		  How is human development index calculated ?

vFkok@OR
	 	 Hkkjr esa ;kr;kr fodkl dh cM+h leL;k;sa dkSu lh gSa\
		  What are the major problems of transport development in India ?

	 (C)	 eè; izns'k dh vFkZO;oLFkk esa lM+d ;krk;kr osQ egÙo dks crkb;sA
		  State the importance of road transport in the economy of Madhya Pradesh.

vFkok@OR
	 	 eè; izns'k esa gokbZ ;krk;kr osQ fodkl ij ,d laf{kIr fVIi.kh fyf[k;sA
		  Write a brief note on development of air transport in Madhya Pradesh.

	 (D)	 vk£Fkd fodkl dk ih ;w vkj , izfr:i D;k gS\
		  What is PURA model of economic development ?

vFkok@OR
	 	 Hkkjr esa futhdj.k osQ {ks=k dh foospuk dhft;sA
		  Discuss the scope of privatization in India.

	 (E)	 Hkkjr esa oS'ohdj.k dk izHkko D;k gS\
		  What is impact of globalization in India ?

vFkok@OR
	 	 xzkeh.k jgokfl;ksa esa xjhch osQ izHkko ij ,d laf{kIr fVIi.kh fyf[k;sA
		  Write a brief note on incidence of poverty among rural households.

	 (F)	 Hkkjr esa jkstxkj dh xq.koÙkk osQ eqís dh foospuk dhft;sA
		  Discuss the issue of quality of employment in India.

vFkok@OR
	 	 izfr;ksfxrk vf/fu;e] 2002 osQ izeq[k izko/kuksa dks crkb;sA
		  State the main provisions of Competition Act, 2002.

	 (G)	 eè; izns'k dh vFkZO;oLFkk esa o`Qf"k osQ egÙo dks crkb;sA

		  State the importance of agriculture in the economy of Madhya Pradesh.
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vFkok@OR
	 	 eè; izns'k esa eè;kÉHkskt dk;ZozQe ij ,d laf{kIr fVIi.kh fyf[k;sA

		  Write a brief note on Mid-Day Meal Programme in Madhya Pradesh.

	 (H)	 xzkeh.k lk[k osQ fy;s okf.kfT;d cSadksa osQ ;ksxnku dks crkb;sA

		  State the contribution of Commercial banks to rural credit.

vFkok@OR
	 	 tek ,d=khdj.k osQ lEcU/ esa okf.kfT;d cSadksa }kjk vfHkuo iz;klksa dk laf{kIr mYys[k dfj;sA

		  Narrate briefly the recent initiatives undertaken by Commercial banks with respect to deposit 
mobilization.

	 (I)	 eè; izns'k esa eqnzk cktkj dh orZeku fLFkfr dks crkb;sA

		  State the current position of money market in Madhya Pradesh.

vFkok@OR
	 	 Hkkjrh; LVkWd fofue;kd esa O;kikj esa izeq[k dfe;ksa dks crkb;sA

		  State the major defects in Trading in Indian Stock Exchanges.

	 (J)	 Hkkjrh; bdkbZ U;kl dh dk;Zfof/ ij ,d laf{kIr fVIi.kh fyf[k;sA

		  Write a brief note on working of Unit Trust of India.

vFkok@OR
	 	 1991 osQ vk£Fkd lq/kjksa osQ i'pkr Hkkjr osQ lkoZtfud ½.k dh fLFkfr crkb;sA

		  Give the status of India’s public debt after 1991 economic reforms.

	 3.	 fuEufyf[kr iz'uksa dk mÙkj yxHkx 300 'kCnksa esa nhft;s%					     3 × 15 = 45
		  Answer the following questions in about 300 words :

	 (A)	 Hkkjr esa [kk| lqj{kk ,oa vfrjsd Hk.Mkj osQ eqíksa dk vkykspukRed ewY;kadu dhft;sA

		  Critically evaluate the issues of buffer stock and food security in India.

vFkok@OR
	 	 Hkkjr esa {ks=kh; vlekurk,¡ ,oa izolu ij ,d fucU/ fyf[k;sA

		  Write an essay on regional imbalances and migration in India.

	 (B)	 Hkkjrh; vFkZO;oLFkk dh orZeku izo`fÙk;ksa dk vkykspukRed ewY;kadu dhft;sA bl lEcU/ esa vius lq>koksa dks 
Hkh crkb;sA

		  Critically evaluate the current trends of Indian Economy. Also state your suggestions in this regard.

vFkok@OR
	 	 o`Qf"k {ks=k osQ fy;s izR;{k ,oa vizR;{k vFkZ lkgkÕ; ls lEcfU/r D;k ijs'kkfu;k¡ gSa\

		  What are the problems of direct and indirect subsidy for agriculture sector ?

	 (C)	 ^^egkRek xk¡/h jk"Vªh; xzkeh.k jkstxkj xkjaVh vf/fu;e** dk vkykspukRed ewY;kadu djsaA

		  Critically evaluate “Mahatma Gandhi National Rural Employment Gurantee Act”.

vFkok@OR
	 	 Hkkjr esa csjkstxkjh dh leL;k dh foospuk dhft;sA fdl lhek rd] gky gh esa ?kksf"kr dkS'ky fodkl dh 

jk"Vªh; uhfr] 2015 csjkstxkjh dh leL;k dk lek/ku dj ldrh gS\

		  Discuss the problem of unemployment in India. To what extent, the recently proclaimed National Policy 
on Skill Development, 2015 can tackle the problem of unemployment?


